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Figure 1 
Consumption Path with and Without Commitment – Constant Bargaining Power 

Panel A of this plot shows the equilibrium level of total household expenditure in every period without commitment X*
t 

and the optimal full commitment consumption path X**
t. Panel B shows the path of private consumption for both 

members without commitment C*
A,t, C*

B,t and compares it to the full commitment allocation of private consumption 
C**

A,t, C**
B,t. It is drawn using the following parameters: discount factors are =0.85 and =0.95, the gross interest rate 

is R=1.07, both members place weight  = 0.6 on their own utility, the bargaining power of both members is equal 
=0.5, household members place equal weight on private and public consumption =0.5, the household exists for T=50 
periods, and starts life with wealth of W1=1,500.  
 

Panel A: Total Household Expenditure 

 
 

Panel B: Allocation of Private Household Expenditure 
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Figure 2 
Comparative Statics: The Value of Commitment 

This plot shows the fraction of W1 that the household would be willing to pay at t=1 to achieve the full commitment 
consumption path. Due to log additive utility functions this fraction is invariant to the choice of W1. The figure shows 
how the value of commitment varies with the weight household members place on private consumption . The plot is 
drawn using the following parameters: discount factors are =0.85 and =0.95, the gross interest rate is R=1.07, both 
members place weight  = 0.6 on their own utility, the bargaining power of both members is constant and equal 
=0.5, and the household exists for T=50 periods. 
 

The Value of Commitment and the Weight on Private Consumption  
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